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Question 1 of 35

Study the two groups of animals, A and B.

Primary 6 Science (Term 1)

2 pts

Which of the following describes the groups of animals correctly?

A) |Characteristics A (B
The animals lay eggs to reproduce. [No | Yes
B) |characteristics A |B
The animals have hair as their outer covering. |No | No
C) |characteristics A |B
The animals have scales as their outer covering. | Yes | Yes
D) |characteristics A (B
The adults give birth to their young. | Yes | Yes
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Question 2 of 35 Primary 6 Science (Term 1) 2 pts

Which one of the following organisms does not reproduce by spores?

A)

Mould on bread

C)
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Mushroom

D)

https://www.classmarker.com/a/tests/test/print/?test_id=1821246 3/34



10/31/21, 1:13 PM ClassMarker - Professional online testing
Question 3 of 35 Primary 6 Science (Term 1) 2 pts
David studies the life cycle of organism C. ;

—— P

”;' Eggs
Omganism C

Adult

Larva

Which of the following characteristics helped David classify organism C as an
inssct?

A) The adult lays eggs.
B) The adult has three body parts.
C) The young moults several times.

D) The young does not resemble the adult.
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Question 4 of 35 Primary 6 Science (Term 1) 2 pts

The diagram shows the waler cycle

i

At which two parts, A, B, C and D of the waler cycle, are water present in the
liquid slata?

A) AandB
B) BandC
C) AandC
D) CandD
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Question 5 of 35 Primary 6 Science (Term 1) 2 pts

Study the plant shown.

flower

leaf

stem

rools

Which of the following two statements are frue about the plant?

A It has a weak stem. '
Its roots make food.
Its flower helps in reproduction,

O 0 @

Its stem transporls food to the roots.

(JA) AandC
()B) AandD
(JC) BandC
/D) CandD
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Question 6 of 35 Primary 6 Science (Term 1) 2 pts

The pictures shows the slomata of a plant.

1 slamata

How are the slomata similar to the gilts of a fish?

(JA) They take in water.
(_)B) They take in oxygen only.
()C) They allow gaseous exchange.

/D) They have covers to protect them.
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Question 7 of 35 Primary 6 Science (Term 1) 2 pts

The diagram shows a plant cell.

The table states the functions of parls A, B, C and D.

 Part | Function

Makes food

Supporis and gives the cell its shape

Controls all the activities of the cell

Controls the movement of substances in and out of the cell

DIQ|(@|>

Which of the parts and functions are correct?

(JA) AandB only
(B) Band Conly
(JC) A, CandDonly
D) A,B,CandD
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Question 8 of 35 Primary 6 Science (Term 1) 2 pts

Elly set up an electrical circuit as shown, She used some wires, two identical
bulbs, D and E, and materials X and ¥ to form the circuil.

]

X D
Y E

Elly noticad that anly buib D Iit up.

What could be the reason for this observation?

A) Bulb D is not working.
B) Xis an electrical insulator.
C) Y is an electrical insulator.

D) The battery has run out of chemical potential energy.
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Question 9 of 35 Primary 6 Science (Term 1) 2 pts

Fred labelled each part of Magnet P as X, ¥ and Z as shown. He conducied
an experiment by lowering Magnel P into a box of steel paper clips.

siring

Magnet P

box of steel
=5 | paper dips

Fred repeated the experiment using two other magnets, Q and R, of the
same size. He recorded the number of paper dips attracted to each parl of
each magnet in the table,

Number of paper clips attracted at
X Y i
Magnet P 17 & 19
Magnet Q 7 1 9
Magnet R 9 __Ei 10

Which of the following conclusions is correct?

A) P is the strongest magnet because the most number of paper clips were attracted by
the magnet.

B) Qs the strongest magnet because the least number of paper clips were attracted by
the magnet.

C) P and R are equally strong as the number of paper clips attracted by the two
magnets at Z is almost the same.

D) P and R are weaker than Q because the number of paper clips attracted by the two
magnets are higher than Q.
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Question 10 of 35 Primary 6 Science (Term 1) 2 pts

Fendi added some weights fo a spring, as shown.

Wha't is the ariginal length of the spring?

A) 10cm
B) 12cm
C) 15cm
D) 20cm
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Question 11 of 35 Primary 6 Science (Term 1) 2 pts

Julian pushed his toy car on four different surfaces, A, B, C and D; with the
same amount of force. The distances travelled by the loy car for each of the
surfaces are shown in (he table.

Surface Distance Travelled By Toy Car (cm)
A 180
f 2 360
c - 3 150
2 D 280

Arrange the surfaces, A, B, C and D starling with the surface that causes the
least Triclional force with the wheels of the loy car.

(JA) B,AD,C
()B) B,D,AC
(JC) C,AD,B
(D) C,B,AD

Question 12 of 35 Primary 6 Science (Term 1) 2 pts

The diagram shows a pond habitat

How meany populations are thera in this habitat?

(JA) 5
(B) 6
ey 7
D) 8
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Question 13 of 35 Primary 6 Science (Term 1) 2 pts

Harry released a ball down a ramp.

i

Which of the following correctly shows the energy conversion that occurred in
tha ball?

A) Kinetic energy ----> Sound energy + Heat energy
B) Kinetic energy ----- > Potential energy + Heat energy
C) Potential energy ------ > Kinetic energy + Sound energy

D) Potential energy ------- > Kinetic energy + Sound energy + Heat energy
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Question 14 of 35 Primary 6 Science (Term 1) 2 pts

Gilbert wants to find out which matarial is able to conduct heat the fastesl.

Which two set-ups must Gilbert use to test his aim?

[A) ice cube (B} ice cube
metal plastic
\ || /“il—ﬂh dish
N [
metal | metal
stand heat stand | heat
& SouUrce Souncs
(C) ice cube ica cube
metal maial
\ /L dish \ dish
010 Ay
meatal | metal _
sland heat stand neat
source soUrce
i 1 L 1 |
(JA) AandB
()B) AandD
(JC) BandC
D) BandD
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Question 15 of 35 Primary 6 Science (Term 1) 0.5 pts

The diagram shows the lungs of a human and how gaseous exchange takes place
at the air sacs.

air 5ac

bloed
vessa|

Gases P and & are found in tha bleod at pars A and B of the blood vessel, The
amound of gases P and Q lound in A and B is representad n the bar graphs below.

% 1

Amount Armaurt
of gas of gas
in blood in blood

atB

at A

Identify gas P.
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Question 16 of 35 Primary 6 Science (Term 1) 0.5 pts

The diagram shows the lungs of a human and how gaseous exchange takes place
at the air sacs.

air 5ac

bloed
vessa|

Gases P and & are found in tha bleod at pars A and B of the blood vessel, The
amound of gases P and Q lound in A and B is representad n the bar graphs below.

% 1

Amount Armaurt
of gas of gas
in blood in blood
ot A atg
Identify gas Q.
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Question 17 of 35 Primary 6 Science (Term 1) 0 pts

The diagram shows the flow of the blood from the lungs to the rest of the body via
the heart.

. upper body
parls .

-ﬁ{ lungs

Identify the arrows that represent the blood that is rich in oxygen by placing ticks in the
boxes. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.
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Question 18 of 35 Primary 6 Science (Term 1) 0 pts

The diagram shows the flow of the blood from the lungs to the rest of the body via
the heart.

. upper body
parls .

-ﬁ{ lungs

Explain how digested food is transported to all parts of the body. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.
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Question 19 of 35 Primary 6 Science (Term 1) 0 pts

Harry uses a float when he swims al the swimming pool.

Harry needs to pump air into the float to inflate it before he can use it in the pool. What
property of air does this show? (1 mark)
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Question 20 of 35 Primary 6 Science (Term 1) 0 pts

Harry uses a float when he swims al the swimming pool.

Does the mass of air in the float increase, decrease or remain the same after more air is
pumped into it? Give a reason for your answer. (1 mark)
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Question 21 of 35 Primary 6 Science (Term 1) 0 pts

Harry uses a float when he swims al the swimming pool.

Why does the float feel harder after it has been left in the sun for some time? Explain your
answer clearly. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.
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Question 22 of 35 Primary 6 Science (Term 1) 0 pts

Iris placed a flask containing Substance Z on the table al reom lemperature of 25°C
for three hours. She used a data lopger lo measwe the femperature of Substance Z
over that period. After three hours, she noticed thal Substanca Z was in the liquid
siate. '

Substance 7

woodan flask

black

3 hours later

In the diagram above, use a ruler to draw Substance Z in liquid state. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.
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Question 23 of 35 Primary 6 Science (Term 1) 1 pt

Iris placed a flask containing Substance Z on the table al reom lemperature of 25°C
for three hours. She used a data lopger lo measwe the femperature of Substance Z
over that period. After three hours, she noticed thal Substanca Z was in the liquid
slala. -

Substance Z

3 hours later

Using the dala recorded by her data logger, Iris plotted a graph as shown.

Temperature of
Substance £ (*C)

L

30
D
25 =

20
15
" 10
5

0 : il
Time {hours)

Based on the graph, what is the melting point of Substance Z? (1 mark)
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Question 24 of 35 Primary 6 Science (Term 1) 1 pt

Iris placed a flask containing Substance Z on the table al reom lemperature of 25°C
for three hours. She used a data lopger lo measwe the femperature of Substance Z
over that period. After three hours, she noticed thal Substanca Z was in the liquid
slala. -

Substance Z

3 hours later

Using the dala recorded by her data logger, Iris plotted a graph as shown.

Temperature of
Substance £ (*C)

L

30
D
25 =

20
15
" 10
5

0 : il
Time {hours)

At which point in the graph did Substance Z reach room temperature? (1 mark)
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Question 25 of 35 Primary 6 Science (Term 1) 0 pts

Jimmy used boxes of identical size bul made of different matenals to conduci an
experimant in a dark room. In sach box, he used identical bulbs and placed fight

sensors o record the amount of light detected.

il / aluminium
——  bo

&5 | fight | &5 .

EETE0T

glass
box

' glat_up 4 Sel-up Y

Ha racorded the resuite in the gragh.

A
Light "
SEnsar ¥4
reading

—% Eﬂt'm

X
State a property of light. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.
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Question 26 of 35

ClassMarker - Professional online testing

Primary 6 Science (Term 1) 0 pts

Jimmy used boxes of identical size bul made of different matenals to conduci an
experimant in a dark room. In sach box, he used identical bulbs and placed fight
sensors {o record the amount of light detected.

=

&

' glass
box
@ L
sensor

: Satup X

/ aluminium
——  bo

T ,

Ha racorded the resuite in the gragh.

Light
SEns0or
reading

A

Sel-up Y

U

X

Set-up

Explain why there is a difference in the amount of light detected in each set-up. (2 marks)

Set-up X:

Set-up Y-

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.

https://www.classmarker.com/a/tests/test/print/?test_id=1821246



10/31/21, 1:13 PM ClassMarker - Professional online testing

Question 27 of 35 Primary 6 Science (Term 1) 0 pts

Jimmy used boxes of identical size bul made of different matenals to conduci an
experimant in a dark room. In sach box, he used identical bulbs and placed fight
sensors {o record the amount of light detected.

il / aluminium
i ——  bo

glass
box

&5 | fight | &5 .

SENE0T
' Sat-up X Sel-up Y

Ha racorded the resuite in the gragh.

A
Light "
SEnsar
reading
—% Eﬂt'm

X

Why did Jimmy use identical sized boxes for the experiment? (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.
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Question 28 of 35 Primary 6 Science (Term 1) 0 pts

Kenny sel up an experiment to measure the amount of force needed to fift two 100g
rods out of an empty container, one at a ime. One rod is wrappad with plastic and
the othar rod with sandpaper.

He then added 300cm? of sand into the empty container. He measured the amount
of force needed 1o 1ift the rod wrappad with plastic, as shown.

cantainar —-P 2 E n:,.d mppéd 'l'l-l'ﬂ'l

| plastic

mmmmm

ESe— 300em? of sand

........

State the forces that caused the spring to stretch when he lifted the rod out of the container
with sand. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.

https://www.classmarker.com/a/tests/test/print/?test_id=1821246 28/34



10/31/21, 1:13 PM ClassMarker - Professional online testing

Question 29 of 35 Primary 6 Science (Term 1)

Kenny set up an experiment to measure the amount of force needed fo it two 100g
rods out of an empty container, one at a ime. One rod is wrappad with plastic and
the othar rod with sandpaper.

He then added 300cm? of sand into the empty container. He measured the amount
of force neaded 1o It the rod mppad wllh plastic, as shown.

oM

R RTE TTR] |

0N spring balance

container — rod wrapped with

" plastic

AT

o e
shgnbese— 300eme® of sand

Kenny had recorded his results in the table. Suggest the amount of force
needed 1o §ift the rod wrapped with sandpaper oul of the container of sand.

Write your answer in the lable.

Force needed (N)
Rod Withoul sand With sand
wrapped with plastic v 3
wrapped with sandpaper 1

https://www.classmarker.com/a/tests/test/print/?test_id=1821246
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Question 30 of 35 Primary 6 Science (Term 1) 0 pts

Kenny sel up an experiment to measure the amount of force needad o fift two 100g
rods out of an empty container, one at a ime. One rod is wrappad with plastic and
the othar rod with sandpaper.

He then added 300cm® of sand into the empty container. He measured the amount
of force needed 1o 1ift the rod wrappad with plastic, as shown.

container ——fos:

mmmmm

o 200em® of sand

Explain your answer in the previous question. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.

Question 31 of 35 Primary 6 Science (Term 1) 0 pts

Plants get their energy from the Sun to make food through the process of photosynthesis.
List the factors that are required for photosynthesis in green plants. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.
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Question 32 of 35 Primary 6 Science (Term 1) 0 pts

ienli i they carmy oul
Scientisls have found that planis produce glecirical enengy when :
- pholosynthesis which |s used lo fight up a bulb as shown in the gaf-up.

Sun

- bty

mlamd

ﬁf

wires

Complete the boxes below 1o show the anergy conversion thal akes place in [;‘]
the above sat-up.

o potential
3 iy — 4 ¥
_ of plant
\ar energy energy .
il of crexit o of light buib

of the Sun

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.
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Question 33 of 35 Primary 6 Science (Term 1) 0 pts

il i they cany oul
Scientists have found that planis produce glacirical enengy when :
- pholosynthesis which |s used lo fighl up a bulb as shown in the gat-up.

Sun

- bty

mlamd

wirgs

Explain how this form of obtaining energy is an advantage as compared to the burning of
fossil fuels for energy. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.
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Question 34 of 35 Primary 6 Science (Term 1)

Everstt wanted to investigate the preferred conditions of the habitat of organism H.

Ha has the following resources:

L
L]
.

a coverad tray with

o alr holes
o fourequal parts, A, B, Cand D
@ & hole in the middle which is the only way to each part
2 torchlights
BOOg of dry soil
800g of darmp soil
100 organism H

Design an experiment fo investipate Evereit's aim by filling in the necassary
boxes using all the available resources. [2]

= G0g of food = B5lg of food

» S0y of food

This question is designed for extended answers that parent/ teacher will have to assign and

guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as

it was designed in such a way that it requires manual assistance.
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Question 35 of 35 Primary 6 Science (Term 1) 0 pts

Eversit wanted to investigate the prefarred conditions of the habitat of organism H.
Ha has the folowing resources:
s 3 coverad tray with
o alrholes
o four equel parts, A, B, Cand D
o & hole in the middle which is the only way to each part
« 2 torchlights
» BOOg of dry soil
* 600g of darmp soil
= 100 organism H

Describe what he must observe after a few days before he can conclude the preferred
habitat for organism H. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.
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